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B MOlRE

&2 MeHAlE =S4 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o als B RS2
0f 4 o8
= 1,000,000
= 756,291
M AlE S8XJ 1,756,291 1,174,970 581,321
& 1,000,000
= 756,291
e Al & XI&2tel 93,123 114,480 A21,357
101 el 15,123 14,770 353
04 JIZtHIZ2E2ENEE S 15,123 14,770 353
O THeHAIE HREX 15,123
— 2= 32,9803 x1H*260 8,575
- &= 32,980 x1H +522 1,715
— d0= 8,574,800 x 18 x4/12& 2,859
APl =E 3,830 x 1H «25A| 2++ 123 1,149
— AX=E 32,9803 x1H «25¢ 825
201 LEH2HH| 10,000 10,500 A500
01 AtER22/Hl 10,000 10,500 A 500
O getdg] 10,000
- 224 EZ Y| 2,000,000& 2,000
— MaHAIE E=2AE 2el
1,400,000 570 Al & 7,000
— MAHANELR=E S| 1,000,000& 1,000
202 O4Hl 2,000 3,000 A 1,000
01 WA 2,000 3,000 A 1,000
O MeHAZE sdst RFE 0]
2,000,000& 2,000
401 Al &HIL 201 66,000 86,210 220,210
01 Al&HI 66,000 85,010 A~ 19,010
O THeHAIZ A8 X2l (E4Hl8)
2,000,000 *500 Al & 10,000
O SI&AIZE HIJt" X3 At
32,000,000& * 170 £ 32,000
O &3 s 2= 4,000,000& * 104 2 4,000
O Zel &Itgdst 20,000,000& * 14! 20,000
dd8 5 EQANE 22 287,168 272,490 14,678
101 Q14| 4,200 3,750 450
04 JIZHMIZZ2XEE =+ 4,200 3,750 450
O EQAZE ot&a 34 082Y
35,0003 x1H*120& 4,200
201 B3| 90, 168 72,390 17,778
01 AtS 22/t 16,000 17,168 AN 1,168
O gptdgl 16,000
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A NS B HMOHHE

B MOlRE

SR HeHAE sEX (etel: =3
_ _ _ Muo
SNBSS NRAY - B2 0 & 24 e HlE2
— EQAIE SAKHRE AZ2Y) 32|
3,000,000& 3,000
— EQANE 2= MA 2,000, 000& x2& 4,000
— EQANE &4 R
100,000& 5=+ 123 6,000
— 2=XclAl&Z HJI= HMeltl
500,000& =63 3,000
02 33234l 34,168 36,022 A 1,854
O 23e= 34,168
— d3tX 22| 1,000,000& 122 12,000
— Al ZEIIEA 840,000& * 13 840
— LCIHI0IE EIIEAM
199,000 *2H A %13 398
— &I ZIIZA 200,000& *12] 200
— &J14dl ZII1ZA 770,000& =13 770
— DIt Z AL 530,000& 13| x12& 6,360
— LCIHIOIE M Z A
110,000& 20 A +128 2,640
— MIRI(MNZSZEE) 10,000,000& 10,000
— =T AIEZ 80,000& 122 960
03 A2 HI 40,000 19,200 20,800
O EQAME MEZ2OY 2HOINM 2 S
) 400,000& *43| 123 19,200
O &&Hel &9 Xt Atell= 200,000& *523] 10,400
O &&Hel 882171 &Xt=z  200,000& «523 10,400
202 O 3,500 0 3,500
01 =AY 3,500 0 3,500
O EQAME 230 THE =0
50,000& 70 3,500
203 ¥R =&l 9,000 9,000 0
03 AZFXHRFAH] 9,000 9,000 0
O EQAIE L ZHMTHEHAIE SNSHALS AR
=& 9,000,000& 9,000
301 Ypt8asg 25,200 25,200 0
10 ALAHIE &= 25,200 25,200 0
O EQANE dAL & 23 FILA &bl
35,0003 « 152 «43] « 123 25,200
307 QI2t0I A 155,100 138,000 17,100
04 BIZHHAIE X 165,100 138,000 17,100
O QZtHAIE X 163,100
— EQANE HE 5= DG A
5,000,000& 5,000
— EQANE A OIHE AL =&
2,700,000 %532/ 143, 100
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SH: K ZHOBIE Dt
Ha: MRE

&2 MeHAlE =S4 (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
- e ° T EEREES = 04”:"% ree
— SLEC HAEY BAMES
1,000, 0003 *5H Ct Al 5,000
O THelAIZ 43 dSEHH 22
2,000,000& » 14 2,000
EQANE StEA 2 = AME7mA2 20,000 0 20,000
401 A &EHIYL 2048 20,000 0 20,000
01 Al&t| 20,000 0 20,000
O sEy 2 HAL R
20,000,000& * 14 20,000
ZHATHH A E =S 56,000 0 56,000
201 LetEIH| 6,000 0 6,000
01 AtR22/H] 1,000 0 1,000
O AL RAE SAHL =& 1,000,000& 1,000
02 3224l 5,000 0 5,000
O &= M), 33tAE SRl
5,000, 000& 5,000
307 BI12+0l A 50,000 0 50,000
04 QIRHHAIE X 50,000 0 50,000
O HEHAL L Ol EH AL
50,000,000& * 14 50,000
RSt RMEHMF(HS) 1,300,000 0 1,300,000
= 1,000,000
= 300,000
401 A &EHIYL 2048 1,300,000 0 1,300,000
= 1,000,000
= 300,000
01 Al&H| 1,275,430 0 1,275,430
O USsuRHH &F
1,275,430,000& = 14 1,275,430
= 983,400
= 292,030
02 Zeldl 19,890 0 19,890
O U=2stuFAEH HE 2l
1,300,000,000& * 1.53% 19,890
= 13,000
= 6,890
03 A&l 4,680 0 4,680
O USstuFAEH e £
1,300,000,000& * 0.36% 4,680
= 3,600
= 1,080
MHES 1,263,853 49,855 1,213,998
= 958,739
& 85,159
= 219,955
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KNS ZHMOHAE

N2 MITE
A RPN DS | (H:H2)
B . M. CHe (5 SALO] . THA 2 Al OH HEE =2}
X2 ZH 1,263,853 49,855 1,213,998
= 958,739
& 85,159
= 219,955
SoterE el 23,813 26,525 N2, 712
101 Q14| 15,123 14,685 438
04 JIZtMZ22XSE+ 15,123 14,685 438
O NEZHYREX 22 Y 15,123
- JIE23 32,9803 »1H 260 8,575
- =Y 32,9803 x1H «52=F 1,715
— 803 8,574,800 x1H +4/12& 2,859
— AlZ2tel==% 3,830& *25A| 2t 12 1,149
— HE XY 32,9803 x1Z »x25 825
201 Let243d| 3,190 6,290 A 3,100
01 AtR22lH| 3,190 6,290 A 3,100
O Sotetd =& &9 W= 88,0002 1004 880
O BHUYHASAAS 2H4g
0,000& x5% x33| 1,050
O Sigsts =4 22l
7,000 x3H x5 x 12 1,260
202 44| 2,000 2,400 2400
01 =LA b 2,000 2,400 A400
O SoiterE e dRFE ol 2,000,000& 2,000
301 LEtEAZ 3,500 3,150 350
10 EALAHIZEA S 1,500 1,050 450
O 2Jtetd 2 XNEZH eldl nsEFAR 4o
]l 50,0003—1*30%‘*12| 1,500
12 JIEt2 432 2,000 2,100 A 100
O 2IIE=A BLUHREA A=Y 2,000,000 2,000
NS AtEH 5t 5,840 23,330 A17,490
201 Lt 2,840 14,440 A 11,600
01 AtSR2t2ldl 2,840 4,440 A 1,600
O XY M E22(MHX,89) M
1,000, 000& *2& 2,000
O &t 2835 FRFA S|
7,000 x2H x5+ 12 840
307 gI2told 3,000 0 3,000
04 CIZFHAE X 3,000 0 3,000
O XNEZH 843 OIHE A
3,000,000& * 18] 3,000
SIUIZ2 T ZMEAH 1,113,200 0 1,113,200
= 916,719
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A NS B HMOHHE

B MRIRE

&2 X3 (ctel: &
_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
[ 85,159
2 111,322
101 Q244 790,370 0 790,370
= 650,870
[ 60,463
= 79,037
04 JIZtHZ22HsE+ 790,370 0 790,370
O sl222 ZH0{X e1HHl 790,370,000 * 14l 790,370
= 650,870
[ 60,463
= 79,037
201 Lt 30,000 0 30,000
= 24,705
[ 2,295
= 3,000
01 At 30,000 0 30,000
O g Y AFHME S AR 22l
30,000,000 *1 30,000
= 24,705
[ 2,295
= 3,000
202 O4dl 10,000 0 10,000
= 8,235
[ 765
= 1,000
01 =AYl 10,000 0 10,000
O sl222 301t 20,0008 x2% x250 10,000
= 8,235
[ 765
= 1,000
206 24 282,830 0 282,830
= 232,909
[ 21,636
= 28,285
01 M2l 282,830 0 282,830
O 3YIZEZ2HEMNY HE 2
282,830,000& * 14 282,830
= 232,909
[ 21,636
= 28,285
FUEHZ I AL 121,000 0 121,000
= 42,020
= 78,980
101 QI 24H 121,000 0 121,000
= 42,020
> 78,980
04 JIAR22UEE2S 121,000 0 121,000




SH: K ZHOBIE Dt
Ha: MRE

ol XIS H A (Sl #)
_ SIEN
SN -EHH . (B) - MPAY - BE2 O &t 04 il b o bRz
SIREN] 883, 0002 * 10} E*11] 97,680
2 37,398
2 60,282
O 4UzEE 2,120, 00021 %112 23,320
2 4,622
2 8,698
AN 1,296, 174 1,818,549 ~522,375
2ANL2 B 19, 130 177,938 58,808
2 AL2 sxHe 39,100 50,720 A11,620
201 2sr2 | 21,600 21,600 0
2 222l 21,600 21,600 0
O 2322 % HM(2+ S)
1,800,008 * 122 21,600
202 01t 2,500 1,920 580
TIENTEL 2,500 1,920 580
O 2Y2DS S&(2AL) 2,500,000%! 2,500
401 AIZHIL 2O 15,000 27,200 A12,200
01 Al&t] 15,000 27,200 A12,200
O AIX Z28ZD2 Fbl 5,000,008 * 14 5,000
O MgRE40f 24(LED) 5,000,008 * 23l 10,000
RRRANHNL 2 40,030 27,218 2,812
201 2er | 21,110 20,258 852
01 ALR eIt 21,110 20,258 852
O AN Yo S 202
2,000,008 * 43 * 2JH A} 16,000
O 2HANE FHLY
70,0008 * 1291 * 43| 3,360
O or2LEY2L S|
7,008 * 501 * 502 1,750
202 0iH] 1,920 960 960
01 2UH0i8] 1,920 960 960
O 2HHANLALE B
20,0008 * 491 * 22 » 122 1,920
207 1IN HI 17,000 6,000 1,000
02 ANyl 17,000 6,000 1,000
O EX0IBHBAAL CA 2L
7,500,000 * 204 15,000
O E=4) Z2I(T7Y
1,000,002 * 204 2,000
B0 NN &% 2 24 40,000 0 40,000
401 AlZHIL 2O 40,000 0 40,000
01 Al 40,000 0 40,000
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A NS B HMOHHE

A SADNY

ool 2HEALS e (S92 e
_ _ _ Muo
SA - HH . CA(BH) - HREAY - BY2 Off &k 08 il i~ o Hm=2
O B0 HAIN A8 & 22
40,000,0002 * 14! 40,000
2H S AL ALY 1,177,044 1,640,611 A463,567
2HEAL ZIN0IZE EX L ASOHL AL 200,000 0 200,000
401 AlEHIZ 20| 200,000 0 200,000
01 Al&H 197,840 0 197,840
O ZII0IZE EX0HY 197,840,008 * 14! 197,840
03 Al& 0| 2,160 0 2,160
O ZIN0IEY EXNHY A2
300,000,000 * 0.72% 2,160
2HEANE RXNSSAY 151,320 151,320 0
401 AlEHIL 28] 151,320 151,320 0
01 Al&H 150,000 150,000 0
O CRALLS, HHCH S
50,0002 *1,000m*374 & 150,000
03 Al& 0| 1,320 1,320 0
O ZHEAL SXSLAL ALY
150,000, 0002 *0.88% 1,320
NE DSSD U DHECTR HEAY 302, 160 0 302, 160
401 AlEHIZ2DHH] 302, 160 0 302, 160
01 Al&H 300,000 0 300,000
O EXIHAYI, AA&H 300,000,0008 * 14! 300,000
03 Al& S| 2,160 0 2,160
O =2 DSstn ¢ 2HHC2 ALLHY]
300,000,000 * 0.72% 2,160
JRIYR-RRE25 M2 ZHECE LAY 171, 184 0 171,184
401 AlEHIZ 20| 171,184 0 171,184
01 Al&H 169,960 0 169,960
O ZHEZZ HEAY 1,214,000 *140m 169,960
03 Al&=CHHl 1,204 0 1,224
O JelYe-P2E25M2 2HEHC2 HEA
of Al 170,000,0002! * 0.72% 1,224
HEOIS2 ZHETR WA 352,380 0 352,380
401 AlEHIZ 20| 352,380 0 352,380
01 Al&H 349,860 0 349,860
O 2AHECZ WA 2,058,000 *170m 349,860
03 Al& 20| 2,520 0 2,520
O HHOIZ2 2HEZZ HEAAE 20
350,000,000 * 0.72% 2,520
A5E 84 2,450,000 1,615,001 834,999
z 1,500,000

_21_




2A: NS HMOHAE o
HM: AC8 24
Sl AMNATSEHAY (&2 &
_ _ _ MEc
2N -3 - c2(3H) - NEME - HES Ol &F2H Ioﬂ/lx_FOH Hns
= 300,000
iy 650,000
AMACTSSHAY 2,450,000 1,615,001 834,999
= 1,500,000
= 300,000
= 650,000
S ZAA(ZE) 1,150,000 615,001 534,999
= 1,000,000
< 150,000
401 AlEHIZL LI 1,150,000 615,001 534,999
& 1,000,000
== 150,000
01 Al&HI 1,142,755 610,604 532,151
O gd&2Z Z&8AY 1,142,755,000& * 14] 1,142,755
s 1,000,000
= 142,755
03 A& =20HbI 7,245 4,397 2,848
O EE2 ZEAMY A2
7,245,000& * 14 7,245
== 7,245
A2 mountia ZHEAI(ZE) 1,300,000 0 1,300,000
=z 500,000
& 150,000
= 650,000
401 AlEHIZLL20H] 1,300,000 0 1,300,000
& 500,000
= 150,000
iy 650,000
01 Al&H| 1,295,320 0 1,295,320
O &2 Mountia AP Al&HI
1,295,320,000& * 14! 1,295,320
= 500,000
= 150,000
= 645,320
03 AlA&20HYI 4,680 0 4,680
O &2t Mountia AFD AlE L2 0HHI
1,300,000,000& * 0.36% 4,680
HYSHAH(XSZMOHAHE ) 76,060 74,740 1,320
ol 29| 4,200 4,200 0
ol 2 A 4,200 4,200 0
203 PR F=&| 4,200 4,200 0
04 2EA2IIYRF=EH| 4,200 4,200 0
O BEN2IERFEH| 350,000& = 12& 4,200
Jl23&H| 71,860 36,000 35,860
Jl2ZHI/ZAIAHE 16,060 28,160 A 12,100
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A RSB0 B
By SH2AAY(NAZHOANY D)

&t JI=3l (ctel: &
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
201 LetEdH| 12,460 20,960 28,500
01 AFR 22| 12,100 14,900 A 2,800
O get=EZH| 10,000,000& 10,000
O =&l 2,100,000& 2,100
02 3234l 360 6,060 25,700
O EXOISH &= asg 28It
180,000& *2& 360
202 O4Hl 3,600 6,600 23,000
01 =Wl 3,600 6,600 23,000
O g2F& ol 3,600,000& 3,600
JI2Ztl/sssds 9,000 0 9,000
201 LBt A Y| 9,000 0 9,000
01 AFR 22| 9,000 0 9,000
O Zet=EZH| 6,000,000& 6,000
O =&l 3,000,000& 3,000
JlEZdl/=H2e 8,000 7,840 160
201 LetHH| 3,000 3,040 A40
01 AbR22lH| 3,000 3,040 A40
O gpt=&Hl 3,000, 000& 3,000
202 O4Hl 5,000 4,800 200
01 =Yl 5,000 4,800 200
O g2F& ¢l 5,000,000& 5,000
JI2Z 8/ XS 3N 33,000 0 33,000
201 Lt 33,000 0 33,000
01 AFR 22l 13,000 0 13,000
O Zet=EZH| 10,000, 000& 10,000
O =&l 3,000, 000& 3,000
02 =234l 20,000 0 20,000
O 3322 % HMA 20,000,000& 20,000
JI2ZHl/s&EMHY 5,800 0 5,800
201 LBt 5,000 0 5,000
01 AFR 22| 5,000 0 5,000
O Zet=EZH| 3,000,000& 3,000
O =l 2,000,000& 2,000
202 (48| 800 0 800
01 =Wl 800 0 800
HEFA ¢l 800,000& 800
MHeegs(XSZHMoAE D) 10,958 9,960 998
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SN
X XH .
S Tt

£l

KNS ZHMOHAE

HWees(XAZHOHE D)

LIS HcH A=

M- B S(3H) - MRAY - BES

[
2

=1
B
121

SHeHX = 10,958 9,960 998
FEIHESE 3 A 10,958 9,960 998
701 JIEt2I AA 10,958 9,960 998
01 JIEtslAA 10,958 9,960 998
O 84%X t=Xcl& =Xl 28I2s
54,788,000& = 20/100 10,958
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